Numerate” —>

DIV hend |
o0 T 2 W/ c1Ma
peno
V\\[\ ‘7@
r@,""""““‘"'""" "7 W-
| ?V‘ugw ' vN !!Ke
f\(&yﬁ 1) Fractions
)
i / g
e Z ond —
2 z T
- Nvreygtol Penomiagyoers | D .
¢ . : 2instu &'%’D
!va\em’h’ < B o I\ﬂ'eg&f e Same Nntr €S
_ewaller 2% and. ' o o€ | Same in
+Wawn aw Voo (L fwo o
Denominatol | Denominads 4\now . Mnoce
™ \ \ Ta%éj’\*’\’\@( ?(M‘h()‘{\l) Frachons
i (%“ “-‘) l (No'r eq,v%n




i} :
FracHieds = Parct s »F wha!e/”

s

¥ Frachons Vepresent parts of a whele (TC"'"O\B

e [ Pzma 1 -

2. Pleces =fF Pi122q

Y " ¥ ¢ Total fieces of Oizza

To'm%
= JE -
?a‘Zﬁa\

Fw%’wba\\\ Game Tota] Time = G0 Mnufesl
Number of- Miautes Camﬂ@{—@A‘-’;Liﬁ minvtes
ws _ V5 %3 _ 3  otal

<o~ Jeky g °F ocame
ye T Time




K Stodent SCo—re:5]

As4i
ijmen‘i" MoX oint3 %v( e
o ¥

Test |
|00
Test z |00 ios
Le$f3 [ 50 100
45

(00

250
part
/
Lo ¥ )0 yo P8 2

0.2%5 =
o§§ilzle Pol
pints




S’chf‘f‘orj ]

Veline Factre -

* Factvrs ove V’WM!?&W""?’ we Can Mu!ﬁ\@!
"!‘éﬁe;f"!r\e,q—" +o je.,“f" anot hey Mmlﬁe(’ (?fo&uw)

T Factors fro duc+ \

[Pcime Number J

L —

DeGine Privae Num‘a@f:

* A Prime Nvmbecr is & whole Mumber

drearec Than T whose a’Mj Factors

e
i




((Wiw\e Mo \oer\

Deline Primme Number :

X A Orime Nuvmber 15 « Whole Mvmber
greatex +han 1 whese ONL-Y

' +o :' B
%’ cj:c g a_v e L ) -~
Flney WIS N
o 4 ) and ‘*56'@}
Aiéfent” \\\ﬂ - e M/j
v vmber Pessivle . |
N Factors & Prododt pf‘lme,, 2 &
4.._
| L Not Prime
7 I % _
A \ ¥ 3 | v
I I * Y Not- Prime
2 % 2
5 %5 v
SR R not PVime
* !




List o6 Primes |

Find Al Poime. Tactvs

3: %%}\ g k{‘r\ﬂ‘ are. ?V”iw\e; Yachvs @
c i3 in 2772

3 | |

¥ 10] $dact with smallest

2 | 0% Pvime & tMove VP

12 (ot Chwkiwj whete~

o4 1+ can 7 AiVide nto

1 13 he Mumber eVenly
7,7% o (widn Mo vemaingde,
424 '
Hi 1%}

3% 17T

41 139

13 (49

3 (9] -

53 5% what ave Prime Fackvs in 57
59 x 2 &&m Prime
(‘” E( K (67 Z Lzl;}m F:::i{ ’
3 2
?.45 |"—§}\ % ?’Wi 7% 2% 2%+
A ‘ 1\ 3



[ Reduce Fracton \]

et

¥ Steps 4o Redvce Fractions

6@@@: agect MNumgeator &
Adeveminativ iate (Nice Facters

2\ Cancel when a fCime Factovr IS
in both Tue nemevatsr £ denomindler

Example 173

.*7‘%‘ You can do ¥ 'ﬂ’“ﬁ wmj toe:

4s _ _ 3 %@)5 _ __‘%m_




%@@@@_ _ 300;&}95 _ 300
G 006 6 * |90 TG
DC
20,000
7 B 6 00 -
}ii“ B 60 ~
G - Tz
50 k2 50
- 2 = bo

i;(;e,a(uoirfg Rule (w’ ’&Wo.g AT end of be“f"h
- \ MU evatod & Denomni nator 4%

You cam vebrove o6NE oy Maye Z&rsS from end of

:um‘fyd% AND Denominafoc grovided that fhe same
umB ey of Zeres are removed Eom Doth AMD
Then ave fronn, end. ot both V\UW\;‘M“5¢ fhat




Veline ﬁQﬁf; A vato 15 e ?uoﬁew\‘i’“ 6f +wo
@uaqﬁ‘ﬁQS That 15 used o
Lompace The quantities

E xample 1 ¢

GO ﬁf\i e S _ ég M‘ le s 6O

260 Mmiles o0

./ - ‘ W
5 heurs /5/ Nour's j,_- hou Wou(™

D=
-

Example 2

8 !5/000 Prof 4 Mfis,ﬁf/ﬁ bcobt  F16 profit

—Too 860 R, 25/00 Reverve
$300/°00 Pevenve, 9 PAP Reuenve

- $ 2 ;\(15 ovolii ’gz ?v’bﬁ‘f“"m |
ﬁ’ 2% &#6#/5 Reuyanue., | &w ReNenve

f"\éa\ﬁ%@%fﬂ o~ Rahos Rul@:

O Keep Uwnits in Mumerator 24 Dep
Keeg o T W Venominato




rﬁ Reo\uowﬁ witrihn  Same. uni (a

g nominato i NVMemﬁr’

J

Rule: Tust ke witiy Prime Fachys
s you have Same uvnifs
& Deneminater

You can cance |  hepn .

ln nuMeéra Tov

Cxampler,

e
" W
4
=

meters

4

]

P

- L

7~
3 % ¢
) " %

e

=
RSk

1 wmeters

4 meters



'IM?M@W F\f""&&ﬁ@w to Mi){?e\ Nvm\oe:l

%. §+@p 5 ; ‘
O ve PIVisioN




Convex+ Mixed Nvmbers o Twprper Fractions

B,

*- Steps *

Mufﬁpij a(wom‘ivmh( %, whole UUM\M—C
Then add +the Nvrneroto o get
the MNew Numen oto

Place New Nuomeratoe over Devominatr




@

L o ez 1 fyfsd
o * T T ogxiz 16 &*m*&*ﬁf’*j"%f




‘E\(f’x""iﬁi@ 1l e

|

- o ajaufpw{;ch&&k @%ooo}

went o Pa,ﬂ'mﬁ Rent, How
poch  was Rent ? |
| . ¥ 2000
L% #300 = S T
|y # 3000 :Hj_?_g_i _}1500

:MZ*( Z




P@iv‘e de Frach aws]

+ Steps:

ITnver+ CFiiﬁ> §€(c:w\,é\ F\f‘maﬁmvf\

@\efk&)a,«&
. c =~ 1
Example 1% =Tz
CLi_ L oyroo e¥z_2_
T2t 1z /?l 2% |
D,
{
& 2
| 2. _ __;é..., %2:‘ po e 1
- SRR b T N
I



E»X"’W\p/e 2. XDivio(mj Z UNi’rsq
©

sjoux % Abd Avove. Non—ITfep
o fotal o & 3}060 M;f€$

an d dYW& 6o Miles g.wmw“

Cthe  whele Hwve . How [ong
Ad i+ ke Them 2

2000 Mles 3000 Miles

6 O M‘\\t’j\?j\w Weu ¢ 1 our
<§§m€@( = dﬂvﬁg]igi) |

_  Booo Miles e

o

3 &
3000 M;\gi % 1 hout -
B éo miles

}

0o eves

. /
2000 houvs 30@\&@;}{5#%%&%%‘:(5 _

S " e i C”STD \:WQ

pAagwelr —7




hord

a$ Fvac

frea )

Express Vec

[ ——— .

gy

e
o

B

e
Fia

[

B R

;

s

=
/

001

|

P

&

2|
2

B ey

e

b
£
y
)
H




e

R

- S i AN N S
g




e

:ﬁw\o( o ﬁ’é'wb act Lilkke TFractous|
\/' ( Denowminators ave € Jua é )

¥ steps

() Add NMNumerators

EM.W\M@ M (kawa.wb’ Sxﬂmg \>

< ”%+3+2-— wi.ﬁ\,i.\,%ﬁ“wim

N 3, T3y ’
— 5 2z



/r A@(@(\ Yl Su\g#’wkc:!” UV\HK& Ffm@ﬁahJS
(Denﬂmiﬂaﬁwg Not Eﬂ;w\\\)
L

Exawple 13 S 3+ 3 - Y
8 12

¥ steps To add o Subivect Unlike FrechoNs

i

i

D &realk opart each deénominatve inte Prime Factor 5¢

' 2189 2zZi\4
Denominatoyr | (Fime Factors ZLQ_ ZL.(;M
2 ¥ 2 ¥ D | |

\ 2 |

count the wwmbey o€ times each
Prime Factoy appeavs in each
lis+ of fvime Factorsy

vbﬁmammw’(—er’ fvrivne Fau etoY S
z
2 % 2 F3




TﬁrM‘EV\m\O Sj

e

g,

LD -

! L-eas T C@ wlVie n D'ﬁ NoMin A, BV

oV
N | | ] /4
| owesT ComMmop D&V\@m;mhw

BV

| | /f
VoeasT L oMoy M Vj 7l§ 0 f é



(4) write each frime as wmany times as ()

You c oonted < W‘”{ﬁ?"j Yo jg:{» Lch:

. - 2 % = 24

2. list+ed Z\; Hmes 4
23 Nigped 1L Hwme’

Detevrmine what Factor/s ga cn
Vewn omivnatoy needs +o Yecome LD

Needs to

e com €

ég_emamgﬂm‘i’bw | Privie ?&émﬁ
. LD

¢ 2 % 2 X 2 3

(B 2 ¥ 2 * A R

Mulfiply each Frachaw by the
1 with the 9goal of ending
We denominators ¢

numbed

u? withh

5 3 _ ___ﬂ S 0 ¥ =
2 = grltgals it

i5 igt+6
= 2T ;@_ TP ]

xS ~ =T 2wy _
FLa







EXxamgle 7%

D QV\‘\‘)M\W\&‘?’W

i 3
s




e e T
x Q FVE p g& :; ® W . z

I becomne "
‘ | Pvime Taecfors Lo )
Penorm Natsy

g 2 ¥2 %2 =,

é%2¥ff_s
2% S

g e
JeD - 2wz ¥*3 ¢




L]
L
)

fle 5

§ L2 7 NV Y
o
% :E.“

ed

5

subtrach |

M
um,

§
|
f

b A S AL (T

e

e

i L E N

i

EY
w

v




S

R

g g Y e R 7
LN > TR A B
Aot e ka = [ ejt:' [ pom—

g [, 2473 A Lo b ¢
sl . o e sk s “éd; s ) [

P2 Z
9 . T e e " S
5 ng ¥ 2 = Lt yry = 2 i
- 2 oE &

e T

ehng.

~ | - Qm%ﬂﬂ —

it










f dt

| 33

§ e
Pt

Y
Bt

S

LV B uslag”

s

[OTRTS——————

ST

A

1

I e
a@‘%ﬁ ¥y wgk

e
—
[E—

s
=

TR

T

t"f»‘&%?’%

Answer

S S SR




5

Mgy

£

ettt
Frt
s S

S Bl

prE

m’_..

Py

%

)
B
LA

¥y

Pe

5

%ﬁﬁxﬁ%ﬁvﬁv

y I— .

[l
e
4

1

—— ;

e

%
!
. ,,,
e mm% 3 b
559 |
Lk

s




